Name _________________________________________________

Exam #1, Math 104, Summer 2007

1. a) Solve the inequality:
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b) Write the solution in set notation.

c) Write the solution in interval notation.

d) Graph the solution set on a number line.

2. Solve the inequality and write the solution set in either set notation or interval notation.
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3. Although beginning salaries vary greatly according to your field of study, the equation 
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 can be used to approximate and to predict average beginning salaries for candidates with bachelor’s degrees.  The variable s is the starting salary and t is the number of years after 1995.  Predict when starting salaries should exceed $100,000.

4. Solve the double inequality 
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.  Write the solution in set notation or interval notation.
5.   Solve the compound inequality 

[image: image5.wmf]4

2

0

1

8

3

<

-

£

+

x

or

x

, and write your solution in interval notation.  [Be sure to combine the intervals into a single interval if at all possible.]

6. Solve the absolute value equation
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7. Use a calculator to solve the absolute value equation
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8. Solve the absolute value inequality 
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 and write your solution in interval notation.

9. Graph the intersection of  
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10. Graph the union of  
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